N = 0 &8 AFH Y & A AN
20219 & 20l & LB H MAHAIS
SH: Mo1S
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Sl ISR ME HA2Y 2 HOAL XS (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MAIS 410,810 425,300 A 14,490
MATS AP EHI 351,370 356,540 N5,170
HESAHEH WHASE L HoAAIL X 280,420 290,200 N9,780
FOUTXAMH 2 70,590 70,590 0
201 et A | 13,050 13,050 0
01 AFR2t2l Yl 13,050 13,050 0
OFUXNXHEHESYE LEt=SH| 4,050,000 4,050
ORI+ 30,000& x25H x12& 9,000
301 et X = 57,540 57,540 0
09 HALAHI X &= 3,000 3,000 0
OFOUNXSAAE 928 L SLTXCSH Hat
(12al) 100,000& *25H 2,500
FOUXNXNEZ)H 2 500,000& 500
12 JEtE &2 54,540 54,540 0
FOIXX T2 LZAIEE 54,540,000& 54,540
FOIHEHOIAIE XA 192,830 209,610 N 16,780
201 Bt A | 29,530 29,910 A 380
01 AP 22l Yl 9,580 9,660 A 80
OFA ROUFHIAIAY 8242  2,400,000% 2,400
OigoEDe A2Y BAR
130,000& = 12& 1,560
OMdz=Zx FAH| 600,000& 600
Od=£J & Hld €xE S 2,500,000& 2,500
ogs - Al 60,000& x12& 720
O3JI&83dI dx & 50,000& *3CHx12& 1,800
02 3329l 19,950 20,250 A 300
Osd)l #AE= 2,250
-Eo9z 175,000& = 12& 2,100
= DNy 150, 000& 150
OX& KXl (2TH) 7,000,000 7,000
O&A RX I 10,000,000& 10,000
O&FSEX Q2 =HE 700,000& 700
203 &R =&H| 2,200 2,200 0
03 Al F=X AR =AH| 2,200 2,200 0
OMAIS SHYERAMFA 2,200,000& 2,200
401 Al HI L £ 0HHI 161,100 177,500 AN 16,400
01 A& HI 161,100 177,500 A 16,400
OFA AlE B3 At 6,000,000 6,000
OMAIsS XH2e 29 8,800,000& 8,800
O8I tdEZ 229 8,800,000 8,800
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OZAI 22 e EE=25 WA SA
27,500,000& 27,500
[215tet stotS MU 3 17,000 0 17,000
201 L2l 14,500 0 14,500
03 A2 Z Hl 14,500 0 14,500
OAlglster stitsHsUH2 14,500, 000& 14,500
301 LB AF 2,500 0 2,500
09 #HALAHIXI& 3 2,500 0 2,500
OAl2lste stitE AU 3 2,500,000& 2,500
Sclbty gs:24 69,620 64,690 4,930
SclBEEs24NE 69,620 64,690 4,930
301 2N = 69,620 64,690 4,930
05 S& -0 -2 69,620 64,690 4,930
OF=FSE=, 300,000& *14H «12& 50,400
osddd= 300,000& x14H +23| 8,400
O3 oasxg 20,0003 x14F «23| «12& 6,720
Ot asl 50,000 *82H 13| 4,100
SEE =X g2 F 1,330 1,650 A 320
gEsd =X 22 1,330 1,650 A 320
201 L2l 600 600 0
02 2324l 600 600 0
Ot XIZO0I(ABIERAX) S4=(3U)
600,000 600
202 044l 730 1,050 A 320
01 = LH o4 1l 730 1,050 A 320
OXsdg =SXNER =& ¢yl 730,000& 730
HYRIZH (MA1S) 59,440 68,760 A9,320
dHl (M1S) 59,440 68,760 A9,320
224 (HA1S) 59,440 68,760 A 9,320
201 -4 35,400 35,400 0
01 At 22l 11,000 11,000 0
ORAN2E AR 22| 11,000, 000& 11,000
02 =24l 24,400 24,400 0
OXIIRS 20,000, 000& 20,000
Odot=ER= 1,700,000 1,700
ORERS 2,700,000& 2,700
202 O4dl 11,440 22,380 A 10,940
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